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Questions

If set has 3 and B has 2 elements then number binary relations of A x B.

If set a has 3 elements and B has 4 then A xB has

If A and B are two disjoint sets then AUb =

AJ(BNC) =

(AUB)UC =

AE Bthen A-b =

If AS Bthe ANB =

If AS Bthen AUB =

Number of elements in power set of {1,2,3}

Power set of empty set.

A set having only one member.

A set containing no element is called.

Collection of distinct objects.

The number of elements of the power set {a,b} are.

The number of elements in the power set of {1,2,3,4}.

elements.

Answers Choice

A. 2<sup>2</sup>
B. 2<sup>8</sup>
. 2<sup>6</sup>
. 2<sup>3</sup>

BUA

(AUB) N (AUC)
AN (BNC)
(AN B)U (ANC)
AU (BU C)

AN (BUC)
(AUB)NC
AU (BUC)
AN(BNC)
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Empty set
Power set
Singleton set
Sub set

subset
Empty set
Singleton set
Super set

Subset
Power set
Set

None of the
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